U5D6 Work Period

Warm Up: Skill Reflection #4
Worksheet Extra Practice Trig Ratios of ANY Angles

1. Use a calculator to find the value of each trigonometric ratio to 3 decimal places.

a) sin 98°

—

a)

b) tan 113° ¢) cos 124° d) sec 174° e) csc 161° ) cot 143°
. For each obtuse angle 8, state the six trigonometric ratios,

°I

3. Evaluate each trigonometric ratio. Give exact answers.

a) cos 120° b) sin 150° ¢) cot 135° d) csc 150° e) sec 135°
g) tan 120° h) cot 120° i) sin 120° j) cot 150° k) csc 135° 1)

f) sin 135°
sec 120°

4. Evaluate each trigonometric ratio to 2 decimal places.

a) cos 110° b) cot 95°

trigonometric ratios.
a) sin @ = %.ﬁndtan 6 and sec 6

c) csc 138° d) tan 108° e) sin 142° f)
g) sec 115° h) cot 130° i) csc 165° j) cos 140° k) sec 175° 1)

5. Given @ is an obtuse angle and the value of one trigonometric ratio, find the other

tan 170°
sin 100°

b) tan 8 = —;7‘-; find cos 8 and csc 8

c) sec 8 = —'—};ﬁndsinaandcoto d) cot @ = -g;ﬁndcos @ and csc 6

e) cos O = -8 findsin fandcot 8 1) csc0=§;findtan0andscc0

4’
6. Find each value of & if 8 is obtuse.

a) sino=v'i b) sec§ = =2
e) csc @ =2

i) °050=--? j) sec@ = —%

f)cot@=~-V3 g)cotd= -1

¢)an b = —=V3 d) cosa=-7‘5
h) sinﬂsg

Kunb=-1 1 csc@=V2

7. Find each value of 8 1o the nearest degree if 8 is obtuse.

a) sin @ = 0.906
d) cot 8 = —1.428
g) tan 8 = —0.532
j) csc 8 = 1.086

b) cos 8 = —0.574
e) csc @ = 1,743
h) sin 8 = 0.978
k) cos 8 =

8. Given 0 is an obtuse angle and the value of one trigonometric ratio, find the other

c) tan 8 = —3.732
f) sec 8 = =2.669
i) cot@ = =0.123

-0.777 ) secf = —1.010

trigonometric ratio, and @ to the nearest degree.

a) sin6=-vlﬁ; find sec 8 and 0

c) cos @ -g; find cot 6 and 0

e) tan® = =3 find csc Hand @

b) cotd = —_E,; find cos # and 8
d) csc 8 = _z\/i find tan 8 and @

f secd = -ﬁ; find sin @ and 8

9. If 6 is an acute angle defined by P(x,y), use x, y, and r o define the six

rigonometric ratios of: a) (180° + &)

b) (360° ~ 8).

10. State the value of each ratio exactly. Draw a diagram to illustrate euch angle.

a) sin 225° b) cos 240° c) cot 210°

d) sin 270° e) tan 300° f) sec 315°

g) cos 180° h) ecsc 330° i) sec 360°

11. State two values of 8 to the nearest degree for each trigonometric ratio.

a) sin 8 = 0.906 b) cos 8 = —0.616 ¢) tan 8 = -5.67!
d) csc @ = —2.924 e) sec 8 = 1.743 f) cot@ = 2.145
g) tan 8 = -0.700 h) sec 8 = —1.155 i) sing = —0.966
j) cos § = =0.423 k) csc 8 = 1,035 ) cot® = —2.747
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